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1 What is the middle term of the expansion 5 What is the middle term in the expansion of
(sinx +2)*? (2sinX +cosy)*?
1) 6sin*x 1) 8sin’Xxcosx
2) 8sin’x 2) 8sinxcos’y
3) 24sin’x 3) 12sin’Xcos’X
4) 32sinX 4) 24sin’xcos’y
2 The third term in the expansion of (sinx —1)” is 6 What is the third term in the expansion of
1) 3sinx (sinx —cosy)’?
2) -3sinX .3 2
3) 3sinx 1) 1051n. )3(cos );
4) —3sin’ 2) —10sin’Xcos“y

3) 10sin’Xcos’y
4) —10sin’xcos’y

3 What is the fourth term in the expansion of

(cosx +3)°?

1) 90cos’x 7 What is the fifth term in the expansion of (a + bi) 79
2) 270cos’x 1) 35a’b*

3)  90cos’X 2) -35a’b*

4) 270cos’x 3) 2la’b’i

4) -21a’b’i

4 What is the third term in the expansion of

(cosx—1)*?
1) 6cos’x
2) —6cos°X
3) 4cosx
4) —4cosX
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